There is a pharmacy next to the hospital
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Is there a bank in this building?
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Yes, there is.
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Where is the bank?
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It’s on the first basement floor. Go down to the basement.
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elevator

1Z 1st floor

X5t 1% 1st basement

X5t 2% 2nd basement

W o] A 6-157H(HF).indd 94 $ 2014-06-11 @A 9:4;0



______IEEEN —p— [ —— T

0[% %AI‘ Locomotive verbs

" 4 Y
. ,

LH=4 7 HC LHH 2t =c7tct =2tLt

to go down to come down togo up to come up
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to return/go back to return/come back
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-M|Q is added when the final consonant is 2 or does
- AlCE Cl oI Q? not have a final consonant, while -2 M2 is added
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Complete the conversations using ‘()M
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Is there a pharmacy around here?

Hf, AAHL.

Yes, there is.

2f=0] oHof] AL

Where is it?

N AAROA RLEZLZ 7HMIR.

Turn right at that interaction.

“12H HE Fojl 2f=0] AN K.

Then, there is a pharmacy next to the hospital.
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go forward go backward
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go left go up
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go down
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across the street next to between in the middle
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_ 2 isused.
1 ) 7|': 9—]')8-)%'0] O‘lElOﬂ 9/!01-9-7 When a noun ends in the final consonant other than 2,
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